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EoFE |4 (FRE)|JTA/RAC]  JTA 19,400 64% A&+ H:19,700 27,000
EE=H1E EEFE  [HE@RE)| JTA |JTA/RAC| 20,000 67% | H:19,800, K%+ H:20,200 26,000
AEFE  [hEGRE) |JTA/RAC|  JTA 20,000 67% |B% 1 H:20,200, A&:19,800 27,100
Zimal=HhiE ZmAlE |HECHE)|[ JAL JTA 51,300 56% | H:49,100, A&:48,900, £:50,700, 1:52,000, H:53,500 49,600
AiEHE  [ERCHE)[JAL/JTA[  JAL 51,100 56% | F:48300, A:48,200, %£:48,800, 1:49,600, H:50,000 51,100
BII=%"1E NBJIFE RE(PFH)| JAL JTA 49,100 57% | H7K:46,600, % H:48,700, 1+:51,300 49,500
RIEH R CPHE)|JAL/JTA|  JAL 48,300 58% | B ZA:45,:800, £:46,300, 1:46,900, H:48,100 51,000
Bl =H1E Pl  [ERECHHE)| JAL JTA 46,300 60% | B A:44,200, £:47,800, +:50,300, H:46,800 49,400
AiEH  [ERCEHE)|[JAL/JTA|  JAL 46,000 60% | B A:44,600, £:46,200, 1:45600, H:47,400 50,900
wh=H18 whFE  |EECHA)| JAL JTA 46,200 60% | HK:44,000, £ H:46,000, 1:48,200 49,300
AiEH  [ERCEHE)|JAL/JTA|  JAL 45,900 60% | B A:44,500, £:46,100, +:45500, H:47,300 50,800
EREE=Hh1E BHEER [HEZ=CHHE)| JAL JTA 46,000 57% | B 7ZA:43,800, ¥ H:45,800, 1:48,000 47500
RIEHXR  |EFECHHE)|[JAL/JTA| JAL 44,900 58% | HA:44,300, £:45,900, 1:45,300, H:47,100 48,900
EAa—AiE T [EREREH)| JAL JTA 41,300 61% £ H:42,900. 1:44,500 46,400
AiEF  |ERECHHA)[JIAL/JTA[ JAL 40,500 61% | 1:41,300, H:42,100 47,100
=ZR=%"1E =R¥ [EZRCHH)| JAL JTA 40,900 61% & H:42,500, 1:44,100 46,200
RIEFE RE CHHE)|JAL/JTA|  JAL 40,100 62% |+ H:40,900 46,100
ME=%"1E MEFE [ERCHHE)| JAL JTA 39,900 60% 40,900
AiEHE  [FERCHA)[JIAL/JTA[ JAL 39,900 60% 41,600
W =sria WRH  |EHERCHHE)| JAL JTA 36,800 59% |4 H:38,000, 1:39,100 40,800
AiEHE  |[ERCHA)[IAL/JTA][ JAL 36,000 60% |+ H:36,500 41,500
IMA=ET I FE B ERE)| JTA |[JUTA/RAC| 29,100 58% &+ H:32,000 31,900
EoHE RS [JTA/RAC)  JTA 29,600 57% | H:29,900, £+ H:32,500 32,500
INR=F1E IFE [ERECHE)|[ JAL JTA 36,700 62% € H:37,900, 1:38,000 40,100
8 (BRER)| JTA |JUTA/RAC] 29,900 60% %1 H:32,700 32,700
AiEHR  [ERGEA)[IAL/JTA] JAL 35,900 63% |+ H:36,400 37,900
48 (BRER) [UTA/RAC]  JTA 29,900 60% | 8:30,100, %1 H:32,700 32,700
M= MLF P 3ERE) | JTA  [JTA/RAC| 33,400 46% | A H:33,700, £ 1:35,900 33,700
EoFE |4 (FRE)|JTA/RAC]  JTA 33,400 46% | B#& 1:33,700, H:35,900 35,900
mlU=/1E fif] LI & 8 (BRE)| JTA |JUTA/RAC| 34,000 50% | H:33,800, A H:34,200, % 1:36,600 33,900
AEFE  [hEGRE) |JTA/RAC|  JTA 34,000 50% | A< 1:34,200, A:33,800, H:36,600 36,300
HEERER) =FF |8 (85 B EE CHA) | JAL/JTA[  JAL 33,200 61% |%:33,600, +:31,000, H:39,400 40,100
Kk (BFH) | JAL JAL 24,600 71% | £:25,600, H:28,200 36,700
FHFE ([EEEH)| JAL JAL 32,400 62% |%:39,600, +:37,200, H:31,900 37,200
KR EFfH)|  JAL JAL 25,800 69% |+ H:27,800 33,500
PR (BRER) = =R [Jh4E (F8%R) ¥[HE CHHE) |[JAL/JTA|  JAL 28,800 66% |1 H:30,000 35,700
=R¥ BECHHE)| JAL JAL 29,100 65% |%:38,400, T H:30,300 36,400
PR (BRER) =FNE [H4E (BRER) B[R CHHE) |[JAL/JTA|  JAL 30,900 60%  |%:32,500, +:27,100, H:34,700 36,500
RIRFFH | JAL JAL 31,000 61% | B A:26,000, £:26,400, 1:24,300, H:26,900 34,300
MEBF [EEGIH)| JAL JAL 32,600 58% |%:36,500, +:33,300, H:28,000 36,500
AR GFFH | JAL JAL 32,600 59% | B AR%:27,600, + H:26,900 32,000
R GIRER) =15 | R (BE;) | KR(FFH | JAL JAL 29,600 64% | H:37,200 34,700
2] JTA JAL 34,300 60% | H 1:36,900, A&:33,000, & H:37,200 36,700
taER  [(KERUFFD| JAL JAL 30,600 63% |%:36,200, +:37,200, H:31,600 32,200
12 JAL JTA 35,000 59% | B4 1:36,900, /& H:33,000 37,200
PR (BRER) = 1UfZ [hi4E (BRER) [ E CHHE) |[JAL/JTA|  JAL 25,900 63% |%:25,700, +:25,600, H:31,800 33,000
K (B JAL JAL 26,400 67% | B:31,000, H:34,400 31,100
W% | ERECHHE)|  JAL JAL 27,000 61% & 1:31,800, H:26,500 30,900
AR GFFH | JAL JAL 28,000 65% |%:32,600, 1:34,400. H:29,000 28,600
PR GRE) =E |E GRS B KR UFEM) [ JAL JAL 38,300 51% | B7ZA:33,500., €:34,100, £:33,000, H:38,500 36,100
2] JTA JAL 34,200 59% | HAK%:29,700, £:30,100, H:32,700 35,600
e [KERUFFD| JAL JAL 32,000 59% | B 7A:27,300., €:28,400, 1:30,200, H:28,300 28,200
f2[E JAL JTA 34,900 59% | A 7K:31,200, % H:32,200, 1:31,900 34,900
PR (ARER) =/ i[4S (BBER) B[R CHHE) |[JAL/JTA|  JAL 24,200 68% | £:23,700. £:21,500, H:31,000 35,400
INERFE BECHHE)| JAL JAL 23,200 69% |%::31,200, 1:29,200, H:22,600 32,100
R (BRER) =54 PR GRE) | tBR JTA JAL 25,400 59% 26,800
SEF 12 JAL JTA 25,400 59% 25,400
PR (BRER) =l 4 (GRER) | tBR JTA JAL 23,700 60% 26,700
JNITE 3 12 JAL JTA 23,700 60% 23,700
HECHE)=5E|EECEIHE)F| HiE |JAL/JTA| RAC 40,000 51% &+ H:41,800 41,800
ERER [H&#EGRE)| RAC  [JAL/JTA[ 31,200 62% | 1:32,400. H:32,500 38,700
AiE RAC [JAL/JTA| 41,800 49% 46,100
KR (FEFH) =5BE| EHMEHK |HiEFERZEHE)| RAC JAL 35,700 53% |&:34,500, H:38,100 38,200
KBx (B8E8) =5 A E [ K (BEFa) 5 fAim JTA RAC 37,100 47% % 1:40,700 37,400
EREFE [H#EGEH)| RAC JTA 35,700 53% |%:34,500, H:38,100 38,200
AiE RAC JTA 28,300 59% | 1:29,600. H:31,200 38,200
2EEE) =5BE| EBREF [+iEFBF)| RAC JTA 34,800 57% | A% H:35,100, A:31,800, 1:34,200 37,100
2 =5 E EREFR [F#GEEH)| RAC JTA 34,500 49% 35,100
e (s =5BE[E@TEH:)E| #AE  [UTA/RAC] RAC 14,100 65% | H:13,900, K%+ H:14,300 14,000
ERE S RiE RAC |JTA/RAC| 14,100 65% | BA&+H:14,300, A&:13,900 14,000
HRCHA)=AKXE|EECHE) ¥| 4 GB&FH) [ JAL |JTA/RAC| 25900 57% |4 1:30,900, H:25,300 30,900
AKEFE |H4E (FREH)|[JTA/RAC|JAL/JTA| 25900 57% |%:25,700, £:23,900. H:30,500 32,500
Kk (FFH) =AXKE | KR FFD X[ F##E GRE) [ JAL |JTA/RAC| 26,700 50% |%:28,300, +:30,000. H:26,300 26,300
AKEH |[H4#E (3% [JTA/RAC|  JAL 26,900 50% |£:26,300, 1:27,100, H:29,000 30,400
KR (B8d8) = AKX B | KR (B8dE) X[ P4 GRE) [ JTA |JTA/RAC| 26,700 50% |%::28,300, 1:30,000, H:26,300 26,300
AXEFE [H#EGEEH)[JTA/RAC|  JTA 26,900 50%  |%:26,300, +:27,100, H:29,000 30,400
LZEHE(hE) =AXKE|2EE (P F P42 FBF) [ JTA |JTA/RAC| 22,100 62% | B H:25,800, & 1:26,000 25,800
AKEH |[H4E(3BF) [JTA/RAC|  JTA 24,500 58% | B:24,800, A&:21,500. € H:25,000, +:24,100 26,800
BR=AXKE BRI [EEREH)| JTA [JTA/RAC| 19,100 58% &+ H:19,300 25,700
AXKEF |HF#EJREH) |[JTA/RAC|  JTA 19,100 58% £+ H:19,300 26,900
HiERE) =EE PEGREH)F| 2R JTA JAL 25,500 59% 28,300
A=k 12 JAL JTA 25,500 59% 28,300
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SN A S rth
X gomo | SERH o/1-7 | BEY =
RED [ RE® -
RRCHA)=2% [RRECHE) X[+ & @8%H)| JAL |JTA/RAC| 29,300 58% | A:28,700, & 1:31,100, H:29,500
m=mE |8 @RS [JTA/RAC[UAL/JTA] 27,200 61% | H:25700, £1:25,900, H:31,900
RECHA)=fA1E [RRCHB)F[4#E@8FH)| JAL |JTA/RAC| 29500 61% |AH:29,800, & 1:31,400
KBR (BEFE)|  JAL JTA 36,800 56% |%:33,500, 1+ H:34,300
AiEHFE  |[H4EEF) [UTA/RAC[UAL/JTA] 27,800 63% |B%1:27,000, H:32,200
K (FFH) ==t [KBRUFFD X[+ G8F) | JAL  |JTA/RAC| 32,500 47% | B:25900, A&:32,700. € 1:26,300, H:26,100
=hFE P GRE) [JTA/RAC]  JAL 32,700 47% | H:25300, £ 1:25500, H:30,000
Kbz (BEFR) == [ABR (BAdR) 442 (F8%)| JTA |JTA/RAC| 32,500 47% | B:25900, A&:32,700, £ 1:26,300, H:26,100
=mE |48 BRER) [UTA/RAC]  JTA 32,700 47% | B:25,300. A:33,400. £ 1:25500, H:30,000
Kix (FFH) =R1E [KRUFFD X[ H4E G8F) | JAL  |JTA/RAC| 33,100 51% | H:26,100, 7:33,200, % 1 H:26,400
AEX [HEGE)|[JTA/RAC] JAL 33,200 51% | A& 1:26,400, H:30,300
K (BAdE) =H1E | KBk (BEF8) |44 (AB%E)| JTA [JTA/RAC| 33,100 51% | F:26,100, A:33,200, ¥ 1+:26,600, H:26,400
AiEF &GRS [JTA/RAC]  JTA 33,200 51% | B 1:26,400, AK:33,500, H:30,300
Z2EE(PE) =20 2B (G X PHEGE)| JTA |JTA/RAC| 35,600 47% | A:25,700, &1+ H:27,000
EmHE RS [JTA/RAC)  JTA 26,100 61% | A:22,700, £:25,600
2 E(PE) =hiE|2HE () X HP#EGRE)| JTA |JTA/RAC| 35,700 51% | A:26,400, &1 H:27,300
AEXR  |[HEGRE) |[JTA/RAC] JTA 27,000 63% | B+ H:27,300, A&:23,700, £:26,800
IR TR =@ @5 R &FF) R[EZCHR)|[  JAL JAL 35,800 59% |£:41,000, +:37,500
KR FEFf)|  JAL JAL 28,200 69% |+ H:30,700
RBR (BEFE)|  JAL JTA 27,900 69% | £ H:28,900
ZEE(hE) |  JAL JTA 39,300 56% | H:38,500. A:40,000. £:41,000, 1:34,100, H:36,500
f2E JAL JTA 39,200 58% | A%:37,300, + H:37,400
B (BRER) R EE CHHA) [JAL/JTA[  JAL 37,900 57% | B %:36,700, 1£:35,400, H:41,000
RBR FEFf)|  JAL JAL 31,200 65% |1:32,700. H:38,700
KB (B3F8) [ JTA JAL 34,300 62% | A%+ H:31,400
ZEE (e JTA JAL 31,800 65% | AK:28500, £:31,300, + H:34,700
12 JTA JAL 39,200 58% | A%:37,300, T H:37,400
LR Fr) =RELREGTFH R ETTCHIHE)| JAL JTA 50,500 54% | A% H:49,000, 1:49,800
RIEH R CPHE)|JAL/JTA|  JAL 49,000 55% | B% 1 H:48,400, A&:49,300
ER==ah BRI [hEEREH)| JTA [JTA/RAC| 27,000 50% | A:19,900, £+ H:20,300
EoFE |4 (FRE)|JTA/RAC]  JTA 23,300 57% | A:19,700., & 1+ H:20,300
EE=H1E EEFE [P @RE)| JTA |JTA/RAC] 27,100 55% | A%+ H:20,600
AEFE  [hEGRE) |JTA/RAC|  JTA 23,500 61% | H:23,800., &:20,300, % 1 H:20,600
Zimal=HhiE ZmAlE |HECHE)|[ JAL JTA 56,800 52% | A:52,800., %:54,300, 1:56,200, H:55,200
AiEHE  [ERCHE)[JAL/JTA[  JAL 52,800 55% | 7R:52,300. £+ H:53,400
BlII=%H1E BJIFE  [ERCHHE)| JAL JTA 56,100 51% | 7K:52,700, £:54,200, H:55,100
RIEH R CPHE)|JAL/JTA|  JAL 52,700 54% | A:52,200. € 1 H:53,300
Bl =H1E Pl  [ERECHHE)| JAL JTA 56,000 51% | AK:52,200, £:54,100, H:55,000
AiEH  |[ERCEA)[IAL/JTA] JAL 51,600 55% | H:51,100, A&:52,100, €+ H:53,200
wh=H18 whFE  |EECHA)| JAL JTA 55,200 52% | AK:52,100, £:53,700, H:54,300
AiEH  [ERCEHE)|JAL/JTA|  JAL 51,500 55% | 8:51,000, A&:52,000, &+ H:53,100
EREE=Hh1E BREEF  [EECHHE)|  JAL JTA 48,900 54%
AEH  [FERCEHE)|JAL/JTA|  JAL 48,900 54% | H% 1 H:48,300
EAa—AiE FHAE  |[EZ@H)| JAL JTA 47,700 55% | A:44,300, £:46,000, H:46,100
RIEH R CHHE)|JAL/JTA|  JAL 42,200 60% |A:42,100
=ZR=%"1E =R¥ [EZRCHH)| JAL JTA 47,600 54% | 7K:43,100, £:45,900, H:46,000
RIEFE B (PH)|JAL/JTA]  JAL 42,100 60% | A:40,900
ME=%"1E MEFE [ERCHHE)| JAL JTA 47,000 52% | A% H:39,900, £:41,500
AiEHE  [FERCHA)[JIAL/JTA[ JAL 39,900 60%
W =sria WRH  |EHERCHHE)| JAL JTA 46,900 48% | A:38,100, €:39,700, *:41,400, H:39,800
AiEHE  |[ERCHA)[IAL/JTA][ JAL 38,000 58% | A:37,200,  H:37,400
IMY=T1 INEAF hiE (BRZR)| JTA  |JTA/RAC| 34,700 50% |A:29,800. € 1 H:34,800
EoHE RS [JTA/RAC)  JTA 34,900 49% | 8:35,200. AK:30,000, £+ H:35,400
INA=F18 INAEE | ERHECHHA)|[ JAL JTA 46,800 51% | A:37,900, #:38,700, 1:40,800, H:38,800
iE (BFm)| JTA [UTA/RAC] 35,500 53% | A:30,600, £+ H:35,700
AiEHR  [ERGEA)[IAL/JTA] JAL 37,900 61% |ZA:37,100,  H:37,300
B (BRER) [UTA/RAC]  JTA 35,500 53% | A:35,700, A:30,600, €+ H:35,800
M= MLF P 3ERE) | JTA  [JTA/RAC| 38,500 38% | 7k:35,900. £ 1+ H:39,000
EoFE |4 (FRE)|JTA/RAC]  JTA 38,500 38% | 7:35,900. H:39,000
mlU=/1E fif] LI & 8 (BRE)| JTA |JUTA/RAC| 38,600 43% | A:37,000, € 1 H:39,100
AEFE  [hEGRE) |JTA/RAC|  JTA 38,600 43% | 7A:36,700, H:39,100
HEERER) =FF |8 (85 B EE CHA) | JAL/JTA[  JAL 34,700 59% | A& +:34000, H:38,900
KBR FFH) | JAL JAL 32,900 61% | H:31,000, £+ H:30,600
FHFE ([EEEH)| JAL JAL 34,000 60% | A:33,800, £:38,800, 1:34,800
KBR FFH) | JAL JAL 35,800 58% | H£:33,500, T H:34,500
PR (BRER) = =R [Jh4E (F8%R) ¥[HE CHHE) |[JAL/JTA|  JAL 31,600 62% | A:30,400, T H:32,700
=R¥ BECHHE)| JAL JAL 31,900 62% | A:30,700, £:38,800, 1 H:33,000
PR (BRER) =FNE [H4E (BRER) B[R CHHE) |[JAL/JTA|  JAL 33,800 57% | B %:32,600, A:34,100, £:29,800, H:35,000
RIRFFH | JAL JAL 31,000 61% | H:29,000, & 1 H:28,600
MEBF [EEGIH)| JAL JAL 34,500 56% | B:33,000, #:36,500, £:31,000. H:30,200
AR GFFH | JAL JAL 33,900 58% | B%£:31,500, + H:32,500
MR RER) =165 | (RER) | KR EFR) | JAL JAL 30,700 63% | A A:36,800, H:37,200
t2[E JTA JAL 37,200 57%
&R [ KRUEM| JAL JAL 33,600 59% | F:29,800, &+:37,200, H:37,100
Gi=Ed JAL JTA 37,200 57% | 1:36,000
PR (BRER) = 1UfZ [hi4E (BRER) [ E CHHE) |[JAL/JTA|  JAL 27,000 61% | A:26,600, H:31,000
K (B JAL JAL 28,400 64% | B:33,500. H:34,300
W | ERECHHE)|  JAL JAL 27,800 60% | A:27,600, & 1:28,600
AR GFFH | JAL JAL 36,400 54% | H:31,300, £:32,900. H:32,300
PR GRE) =E |E GRS B KR UFEM) [ JAL JAL 36,300 53% | B:33,600, #:33,800, £:33,200. H:38,500
2] JTA JAL 34,200 59% | H:34,100, £+ H:30,900
iWEH  [KERUE| JAL JAL 33,300 57% | H£:36,700, :37,700, H:32,000
12 JAL JTA 34,900 59% | H:34,100, £ 1:30,900, H:31,300
PR (ARER) =/ i[4S (BBER) B[R CHHE) |[JAL/JTA|  JAL 25,100 67% | A& 1:24200, H:30,400
INERFE RECHH)| JAL JAL 24,200 68% | A:24,000., £:30,200, 1:25,200
R (BRER) =54 PR GRE) | tBR JTA JAL 25,400 59%
S 12 JAL JTA 25,400 59%
PR (BRER) =l 4 (GRER) | tBR JTA JAL 23,700 60%
JNITE 3 12k JAL JTA 23,700 60%
HECHE)=5E|EECEIHE)F| HiE |JAL/JTA| RAC 41,800 49%
ERxREx [4#2@EB%)| RAC |JAL/JTA| 34,200 59% | A:33,000, + H:35,300
Ai8 RAC [|JAL/JTA| 43,300 47% | AK&1:41.800, H:42,300
KR (FFD=58E| EHREHFR [F#EGFFH)| RAC JAL 38,200 49% | H%1:35,600
KBx (B8E8) =5 A E [ K (BEFa) 5 fAim JTA RAC 38,200 45% | A< 1:35,600
EREFE [H#EGEH)| RAC JTA 38,200 49% | A< 1:35,600
AiE RAC JTA 31,200 55% | A£:30,000, T H:30,400
2EEE) =5BE| EBREF [+iEFBF)| RAC JTA 36,500 54% | A:32,000, £:36,000
fEE=5E EMREF [H4E(FBF)| RAC JTA 35,100 48% | K:34,800
RGNS =5 E | PEGRE)E| AiE [JTA/RAC| RAC 14,400 64% | K€+ H:14,700
ERE S RiE RAC |JTA/RAC| 14,400 64% |B<& 1+ H:14,700
HRCHA)=AXE|EECHHE) ¥| 4 GB&FH) [ JAL |JTA/RAC| 29,200 52% | AK:28500, £ 1:31,000, H:29,400
AKEF |18 (FRE) [JTA/RAC]JAL/JTA| 26,800 56% | H:25600, % 1:25.800, H:31,800
K (FFH) =AXKE | KR FFD X[ A4 GRE) [ JAL |JTA/RAC| 32,100 40% | HB:25,.800. £ 1:26,200, H:26,000
AKEH |[H4#E (3% [JTA/RAC|  JAL 32,600 39% | H:25200, £ 1:25400, H:29,900
KR (B8d8) =AXKE | KR (B8dE) X[ P4 GRE) [ JTA |JTA/RAC| 32,100 40% | B:25,800, % 1:26,200, H:26,000
AXEFE [H#EGEEH)[JTA/RAC|  JTA 32,600 39% | H:25,200., A&:33,300, & 1:25400, H:29,900
ZEHE(hE) =AXKE|2EE (P F P42 (FBF) [ JTA |JTA/RAC| 35,500 39% | AK:25,100, & 1 H:26,900
AXE% [H#EFE) [JTA/RAC]  JTA 24,900 57% | A:21,700, £:24,700, 1 H:25,200
BR=AXKE BRI [EEREH)| JTA [JTA/RAC| 26,900 41%  |AK:19,300, £ 1 H:20,200
AXEH |8 (&) |JTA/RAC] JTA 23,200 49% |7K:19,300, £+ H:20,200
HiERE) =EE PEGREH)F| 2R JTA JAL 26,800 57% | A%+ H:25500
A=k =1 JAL JTA 26,400 57% A%+ H:25500
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RED [ RE® -
RRCHA)=2% [RRECHE) X[+ & @8%)| JAL |JTA/RAC| 29500 57% | H:29,600. £:30,000, 1:32,900, H:32,300
m=mE |8 @RS [JTA/RAC[UAL/JTA] 26,800 61% | H:30,600, €:25,900, 1:32,700, H:33,500
RECHA)=fA1E [RRCHA)F[4 4 @8FH)| JAL |JTA/RAC| 30,400 60% | A:30,600. £:30,800., *:33,000, H:32,400
KBR (BEFE)|  JAL JTA 33,000 61% | H:32,700. £:34,500, 1:35,600, H:35,900
AiEHFE  |[H4EEF) [UTA/RAC[UAL/JTA] 27,800 63% | A:31,100, £:27,200, +:33,400, H:33,800
K (FFH) ==t [KBRUFFD X[+ 8% | JAL  |JTA/RAC| 26,200 58% | H:23,600, £:30,300, 1:27,500, H:25,700
=hFE P GRE) [JTA/RAC]  JAL 26,300 57% | B:27,300, £:25,200, + H:32,700
Kix (BEFR) == [ABR (BAdw) 442 (F8%F)| JTA |JTA/RAC| 26,200 58% | B:23,600, £:30,300, £:27,500. H:25,700
=mE |48 BRER) [UTA/RAC]  JTA 26,300 57% | B:27,300, £:25,200, + H:32,700
Kix (FFH) =R1E [ KRUFFD F[H4E GBF) | JAL  |JTA/RAC| 26,300 61% | B:24,500, £:30,400, +:27,600, H:25,800
AiEH  |[HEEEF) [JTA/RAC]  UAL 27,600 59% | F:27,800. A:26,900. £:26,000, + H:33,200
K (BEdE) =H1E | KBk (BEF8) |44 (3B%E)| JTA [JTA/RAC| 26,800 61% | H:24500, &:27,000, %£:31,100, 1:27,600, H:25,:800
AiEH P42 (BR%R) |UTA/RAC]  JTA 27,600 59% | H:27,800, A&:26,900, £:26,000, + H:33,200
ZEE(PE) =20 |2aE (G X PHEGE)| JTA |JTA/RAC| 22600 66% | B%£:26,300, + H:35,300
EmHE RS [JTA/RAC)  JTA 25,500 62% | H:27,300, A:25,100, €:26,300, + H:34,300
LR (P =R1E(2aE (P X HEFE)| JTA |JTA/RAC| 23,200 68% | B:27,200, A&:23,400, £:27,100, + H:35,400
AiEHE [ (ARER) |JTA/RAC|  JTA 26,800 63% | B:28,600., A:26,400. £:27,100, + H:34,400
IR %) =@ @8 | FIR (FF) | BERZ CBPA)|[ JAL JAL 35,300 60% | H:37,200, & 1 H:41,000
KR FEFf)|  JAL JAL 25,200 72% | 1:36,600, H:34,200
RBr (B8FE)|  JAL JTA 26,100 71% |+ H:31,500
ZEE(hE) |  JAL JTA 29,800 67% | B:37,500. A:30,300. £:38,100, + H:40,100
f2E JAL JTA 37,100 60% | A:37,300, = H:41,000
B (BRER) R EE CHHA) [JAL/JTA[  JAL 35,000 60% | F:35,600, £:36,800, +:38,300, H:38,900
KB FFH) | JAL JAL 33,200 63% | A:30,800, A:31,800, £:30,200, *:42,200. H:41,600
KR (B8FE)|  JTA JAL 31,800 65% | B:31,500, £:33,800, 1:40,300, H:39,800
ZHE(PE)|  JTA JAL 31,600 65% | B:33,200, :31,200, %:32,500, 1:39,000, H:40,300
f2lE JTA JAL 37,100 60% | B+ H:37,300, A:33,200, £:33,900
R ETFm) =FE[RE TR | EZRR)|[ JAL JTA 42,800 61% | F:45500, K%£:43,100, £+ H:50,500
AiEHE  [FERCHA)[JIAL/JTA[ JAL 42 400 61% | 8:43,700, £:43,900. + H:48,300
ER==ah BRI [hEEREH)| JTA [JTA/RAC| 19,600 64% | H:19,800, + H:26,100
EoFE |4 (FRE)|JTA/RAC]  JTA 19,600 64% | B:20,400, + H:27,000
fER=RAiE 12 E F 8 (BRER)| JTA |JUTA/RAC| 20,200 67% | B:20,700, A%:20,400, T H:26,200
AEFE  [hEGRE) |JTA/RAC|  JTA 20,200 67% | H:20,900, %:20,400, 1+ H:27,100
Zimal=HhiE ZmAlE |HECHE)|[ JAL JTA 45,600 61% | H:45,900, £:46,700, 1:53,100, H:56,800
AiEHE  [ERCHE)[JAL/JTA[  JAL 44 500 62% |%:45,800, 1:49,600, H:50,400
BlII=%H1E BIFE  [ERGIH)| JAL JTA 43,700 62% | F:45.800, A:43,900, £:45000, + H:53,000
RIEH R CPHE)|JAL/JTA|  JAL 43,200 63% | H:44,000. €:44,400, 1:49,500, H:50,300
Bl =H1E Pl  [ERECHHE)| JAL JTA 43,600 62% | F:45,700, A:43,800., ¥:44,900, + H:52,900
AiEH  |[ERCEA)[IAL/JTA] JAL 43,100 63% | B:43,900, £:44,300, +:49,400, H:50,200
wh=H18 whFE  |EECHA)| JAL JTA 43,300 62% | H:45,600, A&:43,700. £:44,400,  H:52,800
AiEH B (PFH)|JAL/JTA|  JAL 42 500 63% | 5:43,800, K:42,900, %:44,000, 1:49,300, H:50,100
EREE=Hh1E BREEF  [EECHHE)|  JAL JTA 42,700 60% | B A%:43,000, T H:48,900
RIEHXR  |EFECHHE)|[JAL/JTA| JAL 42,300 60% | H:43,600, %:43,800, + H:48,200
EAa—AiE T [EREREH)| JAL JTA 41,300 61% |£:41,600, + H:47,700
AiEF  |ERECHHA)[JIAL/JTA[ JAL 40,500 61% | 1:44500, H:45,300
=ZR=%"1E =R¥ [EZRCHH)| JAL JTA 40,900 61% |&:41,200, £ H:47,600
RIEFE RE CHHE)|JAL/JTA|  JAL 40,100 62% |t H:44,100
ME=%"1E MEFE [ERCHHE)| JAL JTA 39,900 60% |+ H:44,300
AiEHE  [FERCHA)[JIAL/JTA[ JAL 39,900 60%
Wiz=%H18 WiZH  |ERECHHE)| JAL JTA 36,500 59% | F:36,800. £:37,100, 1+ H:44,200
AiEHE  |[ERCHA)[IAL/JTA][ JAL 36,000 60% |+ H:39,500
IMA=ET INAFE R (BRER)| JUTA  |JTA/RAC| 28,800 58% |%:31,300, + H:31,000
EoHE RS [JTA/RAC)  JTA 29,300 58% | H:29,500. £:31,800, + H:35,400
INA=F18 IFE [ERECHE)|[ JAL JTA 36,400 62% | B:36,700, £:37,000, + H:43,800
iE ()| JTA [UTA/RAC] 29,900 60% |£:32,400, + H:32,000
AiEHR  [ERGEA)[IAL/JTA] JAL 35,900 63% |+ H:37,900
8 (BRE) [UTA/RAC|  JTA 29,900 60% |£:32,400, * H:35,800
M= MLF P 3ERE) | JTA  [JTA/RAC| 28,600 54% | B:28,200, £:31,100. £:30,500. H:28,000
EoFE |4 (FRE)|JTA/RAC]  JTA 28,600 54% | B:28900, T H:38,500
mlU=/1E fif] LI & 8 (BRE)| JTA |JUTA/RAC| 29,200 57% | A:29,400. €£:31,900, 1:31,700
AEFE  [hEGRE) |JTA/RAC|  JTA 29,200 57% | B %:29400, + H:38,600
HEERER) =FF |8 (85 B EE CHA) | JAL/JTA[  JAL 34,400 59% | FB:36,400, £:34,800, +:39,200. H:40,100
Kk (BFH) | JAL JAL 24,600 71% |+ H:40,100
FHFE ([EEEH)| JAL JAL 34,800 59% | H:36,600, €:39,500, *:38,000. H:37,200
RIRUFF) | JAL JAL 25,800 69% |1:34,200, H:31,800
PR (BRER) = =R [Jh4E (F8%R) ¥[HE CHHE) |[JAL/JTA|  JAL 31,200 63% |+ H:36,000
=R¥ BECHHE)| JAL JAL 29,100 65% | H:33,800. £:39,100, 1:35,300, H:35,700
PR (BRER) =FNE [H4E (BRER) B[R CHHE) |[JAL/JTA|  JAL 33,000 58% | 3:36,400. £:33,900, + H:36,500
RIRFFH | JAL JAL 24,300 70% | H:26,600, %:25,600, & H:36,500
MEBF [EEGIH)| JAL JAL 35,700 54% | B %:36,500, £:36,000, H:35,200
AR GFFH | JAL JAL 25,900 68% | B:28,200, £:26,500, 1:33,000, H:30,600
R (ARER) =184 [hiE (BRER) F[RBRUFFD | JAL JAL 27,500 67% |1 H:37,200
t2[E JTA JAL 37,000 57% | B £ H:37,200, A:33,100, ££:33,800
taER  [(KERUFFD| JAL JAL 28,500 66% | A <:30,500, £:37,200, H:35,000
12 JAL JTA 37,000 57% | B+ H:37,200
PR (BRER) = 1UfZ [hi4E (BRER) [ E CHHE) |[JAL/JTA|  JAL 28,200 59% | H:31,400, 1:33,000, H:33,800
RIRUFF | JAL JAL 29,400 63% | HA:25,200. & H:36,500
W% | ERECHHE)|  JAL JAL 29,800 57% | H:31,600, +:33,000, H:32,200
AR GFFH | JAL JAL 26,800 66% |%:31,000, £:36,500. H:34,800
PR GRE) =E |E GRS B KR UFEM) [ JAL JAL 35,600 54% | B:33,800., A:33,000. £:34,200, + H:38,500
2] JTA JAL 26,900 68% | H:27,900, £:27,000, 1:34,400, H:34,500
il s KR (FEFfH)|  JAL JAL 26,400 66% | H:28,500, £:26,700, 1:31,900, H:29,500
2] JAL JTA 28,200 67% | H:32,300, £:29,800, 1:33,600, H:33,100
PR (ARER) =/ i[4S (BBER) B[R CHHE) |[JAL/JTA|  JAL 25,700 66% | FB:28,300, £:25,200, 1:31,700. H:32,200
INERFE RECHH)| JAL JAL 26,200 65% | H:28,500., £:31,100, 1:30,200, H:29,200
R (BRER) =54 PR GRE) | tBR JTA JAL 25,400 59%
S 12 JAL JTA 25,400 59%
GRS =l PSR R ER JTA JAL 23,700 60% | 1:23,800, H:24,800
JNITE 3 12k JAL JTA 23,700 60%
HECHE)=5E|EECEIHE)F| HiE |JAL/JTA| RAC 40,000 51% £+ H:41,800
EREHR [H&#EGRE)| RAC  [JAL/JTA[ 31,800 61% |+ H:39,800
AiE RAC [JAL/JTA| 41,800 49% |+ H:47,800
KR (FEFH) =5BE| EHMEHK |HiEFERZEHE)| RAC JAL 34,000 55% | B:32,700., A:32,600. £:31,000, + H:38,200
KBx (B8E8) =5 A E [ K (BEFa) 5 fAim JTA RAC 34,000 51% | H:32,700, A&:32,600, £:31,200, 1 H:38,200
EREFE [H#EGEH)| RAC JTA 34,000 55% | H:32,700, A&:32,600, ©:31,000, + H:38,200
AiE RAC JTA 28,300 59% | +:35,500. H:36,500
2EEE) =5BE| EBREF [+iEFBF)| RAC JTA 33,200 59% | B:34,800, A:32,800., %:33,300, T H:39,200
fEE=5E EMREF [H4E(FBF)| RAC JTA 32,200 52% | B:33,300, + H:35,100
RGNS =5 E | PEGRE)E| AiE [JTA/RAC| RAC 14,300 64% | AK%:14,500
5 REH Fig RAC |JTA/RAC| 14,300 64% | B%£:14500, T H:14,700
HR(CHA)=AXE|EECHHE) ¥| H#E GB&FH) [ JAL |JTA/RAC| 29,400 52% |%:29,700. 1:32,800, H:32,200
AKEFE |H4E (FREH) |[JTA/RAC|JAL/JTA| 26,400 57% | H:29,900. €:25,200, 1:32,600, H:33,400
Kk (FFH) =AXKE | KR FFD X[ F##E GRE) [ JAL |JTA/RAC| 25,800 52% | B:23,500, #:30,000, £:27,400. H:25,600
AKEH |[H4#E (3% [JTA/RAC|  JAL 25,900 52% | 3:26,600. £:24,900, + H:32,600
KR (B8d8) =AXKE | KR (B8dE) X[ P4 GRE) [ JTA |JTA/RAC| 25,800 52% | B:23,500, #:30,000, £:27,400, H:25,600
AXEFE [H#EGEEH)[JTA/RAC|  JTA 25,900 52% | F3:26,600. %:24,900, + H:32,600
ZEHE(hE) =AXKE|2EE (P F P42 (F8F) [ JTA |JTA/RAC| 22,200 62% | F:26,200, %:26,000, £ H:35,200
AXE% [H#EFE) [JTA/RAC]  JTA 24,800 58% | FB:26,400, A:24,400. £:25,200. + H:34,200
BR=AXKE BRI [EEREH)| JTA [JTA/RAC| 19,200 58% | 8:19,700. £:19,300, + H:26,000
AXEH |8 (&) |JTA/RAC] JTA 19,200 58% | B:19,700., £:19,300. + H:26,900
HiERE) =EE PEGREH)F| 2R JTA JAL 25,500 59% |+ H:28,300
A=k =1 JAL JTA 25,500 59% |+ H:28,300
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RED [ RE® -
RRCHR)=2% [RRECHE) X[+ & @8%)| JAL |JTA/RAC| 29,200 58% | £:30,300, £:30,000. H:27,600
m=mE |8 @S [JTA/RAC[UAL/JTA] 25,200 63% | £:25600, 1:25,900, H:29,600
RECHA)=f/1E [RRCHB) X4 @8F)| JAL |JTA/RAC| 29,800 60% | A:30,000. £:30,400., 1:30,800, H:28,400
KB (BE7E)|  JAL JTA 32,200 62% |%::33,700, 1:35,500, H:32,300
AiEHFE  |[H4E3F) [UTA/RAC[UAL/JTA] 26,200 65% | F:26,400, £:25700, +:27,200, H:30,400
K (FFH) ==t [KBRUFFD X[+ 8% | JAL  |JTA/RAC| 26,200 58% |%:27,400, 1:30,300, H:24,200
=hFE P GRE) [JTA/RAC]  JAL 26,300 57% |&:25500, £:24,500, H:27,900
Kix (BEFR) == [ABR (BAdw) 442 (F8%F)| JTA |JTA/RAC| 26,200 58% |%:27,400, 1:30,300, H:24,200
=hE [P ERE) [JTA/RAC]  JTA 26,300 57% | £:25500, £:24,500. H:27,900
Kix (FFH) =R1E [ KRUFFD F[H4E GBF) | JAL  |JTA/RAC| 26,300 61% |%:27,500, 1:30,400, H:24,300
AEX [HEGE)|[JTA/RAC] JAL 26,900 60% | B:27,100, £:25,600, +:25,300, H:28,700
K (BEdE) =H1E | KBk (BEF8) |44 (3B%E)| JTA [JTA/RAC| 26,800 61% |ZA:27,000, £:27,500, +:31,100, H:25,000
RiEX ;P48 (BRER) |UTA/RAC|  JTA 26,900 60% | H:27,100. £:25,600, 1:25,300, H:28,700
ZEE(PE) =20 |2aE (G X PHEGEH)| JTA |JTA/RAC| 21,800 67% | F:25800, £ H:26,100, +:26,300
EmHE RS [JTA/RAC)  JTA 24,700 63% | H:26,200, &:22,300, £:25,600, 1:25700, H:26,300
LR (P =R1E(2aE (P X HFEFE)| JTA |JTA/RAC| 22400 69% | H:26,400, A&:22,600, £:26,200, 1:27,100, H:26,900
RIEX 4B (BRE) |UTA/RAC]  JTA 26,000 64% | HH:27,100, &:23,600, £:26,100, 1:27,000
IR TR =@ @5 R &FF) R[EZCHR)|[  JAL JAL 35,100 60% | F:35,300, 7:35,400. %:40,300, 1:36,600, H:36,200
KR FEFf)|  JAL JAL 25,200 72% | 1:28,300, H:27,500
ABR (BF8)|  JAL JTA 26,100 71% |%:25500, + H:27,100
ZEE(hE) |  JAL JTA 29,000 68% | H:31,500. A:29,500., £:39,800., 1:30,600, H:38,800
f2E JAL JTA 37,100 60%
B (BRER) R EE CHHA) [JAL/JTA[  JAL 33,700 62% |%:37,300, 1+:32,200, H:37,100
RBR FEFf)|  JAL JAL 31,200 65% |1:30,800, H:35,100
KR (B8FE)|  JTA JAL 31,800 65% |4 1:33,800, H:29,500
ZHE(PE)|  JTA JAL 30,800 66% | H%:31,700, A&:28,400, 1:33,600, H:33,700
12 JTA JAL 37,100 60% | A%:34,100, H:37,300
R ETFm) =FE[RE TR | EZRR)|[ JAL JTA 41,600 62% | B A:42,000, £:42,700, +:43,300, H:43,000
AiEH  [ERCEIHA)|[JAL/JTA|  JAL 42 400 61% | £:43900, £:41,500, H:44,500
ER==ah BRI [hEEREH)| JTA [JTA/RAC| 19,600 64% | £:19,400
EoFE |4 (FRE)|JTA/RAC]  JTA 19,600 64% |%:19,400
fER=RAiE 12 E F 8 (BRER)| JTA |JUTA/RAC| 20,200 67% |A1H:20,400, £:19,500
AEFE  [hEGRE) |JTA/RAC|  JTA 20,200 67% | B 1 H:20,400, £:19,500
Zimal=HhiE ZmAlE |HECHE)|[ JAL JTA 45400 61% | B A:45600, £:46,200, 1:46,400, H:48,900
AiEHE  [ERCHE)[JAL/JTA[  JAL 43500 63% | B 7A:44,100, £:45500, 1:46,600, H:46,100
BlII=%H1E BJIFE  [ERCHHE)| JAL JTA 42,900 63% | &:44,200. 1:46,300, H:44,300
AiEF  |EFECHHA)[JIAL/JTA[ JAL 42700 63% | %£:44,200, 1:44,300, H:46,000
Bl =H1E Pl  [ERECHHE)| JAL JTA 42,800 63% |%£:44,100, 1:46,200, H:44,200
AiEH  |[ERCEA)[IAL/JTA] JAL 42,600 63% | £:44,100, £:44,200. H:45,900
wh=H18 whE  [ERCHR)|[ JAL JTA 42,000 63% | HA:42,400, £:43,100, 1:45,300, H:44,100
AiEHE  |[ERHA)[IAL/JTA[ JAL 42,500 63% | £:44,000. 1:44,100, H:45,000
EREE=Hh1E BHEER [HEZ=CHHE)| JAL JTA 41,500 61% | B 7ZA:41,900, €:42,600, 1:43,200, H:42,900
RIEHXR  |EFECHHE)|[JAL/JTA| JAL 42,300 60% |%:43,800, 1:41,400, H:44,400
EAa—AiE T [EREREH)| JAL JTA 41,300 61% % 1:41,600
RIEH RE CPHE)|JAL/JTA|  JAL 40,500 61% | 1:41,300, H:42,100
=ZR=%"1E =R¥ [EZRCHH)| JAL JTA 40,900 61% £ 1:41,200
RIEFE RE CHHE)|JAL/JTA|  JAL 40,100 62% |+ H:40,900
ME=%"1E MEFE [ERCHHE)| JAL JTA 39,900 60%
AiEHE  [FERCHA)[JIAL/JTA[ JAL 39,900 60%
W =sria WRH  |EHERCHHE)| JAL JTA 36,500 59% |£:36,600, +:36,800
AiEHE  |[ERCHA)[IAL/JTA][ JAL 36,000 60% |£:35,600, + H:36,500
IMA=ET INAFE R (BRER)| JUTA  |JTA/RAC| 28,800 58% |%£:30,800, + H:31,300
EoHE RS [JTA/RAC)  JTA 29,300 58% | H:29,500, £+ H:31,800
INA=F18 INAEE | ERHECHHA)|[ JAL JTA 36,400 62% |%:35,800, 1:36,700
8 (BRER)| JTA |JUTA/RAC] 29,900 60% |%:31,600, T H:32,400
AiEHR  [ERGEA)[IAL/JTA] JAL 35,900 63% |£:35500, + H:36,400
8 (BRE) [UTA/RAC|  JTA 29,900 60% | A:30,100, £:31,900, + H:32,400
M= MLF P 3ERE) | JTA  [JTA/RAC| 28,600 54% |4:30,500, £:31,100
EoFE |4 (FRE)|JTA/RAC]  JTA 28,600 54% 428,000, H:31,100
Ml =x1E fif] LLI & 8 (BRE)| JTA |JUTA/RAC| 29,200 57% | AR H:29,400, £:30,900, £:31,900
AEFE  [hEGRE) |JTA/RAC|  JTA 29,200 57% | H7:29,400, £:28,400, H:31,900
HEERER) =FF |8 (85 B EE CHA) | JAL/JTA[  JAL 33,100 61% |£:32,600, +:33,200, H:37,200
KBR FFH) | JAL JAL 24,600 71% |+ H:25,600
FHFE ([EEEH)| JAL JAL 34,800 59%  |4:38,700, 1:35,600, H:33,600
RIRUFF) | JAL JAL 25,800 69% |1:28,600, H:27,400
PR (BRER) = =R [Jh4E (F8%R) ¥[HE CHHE) |[JAL/JTA|  JAL 28,800 66% | 1:31,200. H:32,000
=R¥ RECHH)| JAL JAL 29,100 65% | A:34,000. £:37,800, 1:34,400. H:30,300
PR (BRER) =FNE [H4E (BRER) B[R CHHE) |[JAL/JTA|  JAL 31,400 60% | £:32,300. 1:29,300, H:32,500
RIRFFH | JAL JAL 24,300 70% |%:25,600, 1:23,200, H:24,500
MEHX [ERERGIH)| JAL JAL 35,700 54% |4:36,500, *:31,700, H:31,100
AR GFFH | JAL JAL 25,900 68% |%:26,500, £:27,900. H:25,800
R (ARER) =184 [hiE (BRER) F[RBRUFFD | JAL JAL 27,500 67% | H:34,200
2] JTA JAL 37,000 57% | A:33,100, %£:33,800, H:37,200
&R [ KRUEM| JAL JAL 28,500 66% | H% H:30,500, £:30,300
12 JAL JTA 37,000 57%
PR (BRER) = 1UfZ [hi4E (BRER) [ E CHHE) |[JAL/JTA|  JAL 25,600 63% |%:26,200, 1:28,200, H:29,800
RIRUFF | JAL JAL 29,400 63% | BA1:25200, H:30,200
W% | ERECHHE)|  JAL JAL 29,800 57% |1:30,600, H:28,600
AR GFFH | JAL JAL 26,800 66% |%:31,000, £:33,600, H:27,800
PR GRE) =E |E GRS B KR UFEM) [ JAL JAL 33,600 57% | B 7ZA:32,400., €:34,800, 1:29,200. H:36,800
2] JTA JAL 26,900 68% & 1:27,000, H:29,300
iWEH  [KERUE| JAL JAL 26,400 66% |£:26,700, £:28,700. H:28,000
12 JAL JTA 28,200 67% |%:29,700, 1:28,400, H:29,800
PR (ARER) =/ i[4S (BBER) B[R CHHE) |[JAL/JTA|  JAL 24,100 68% £:23500. 1:24,200, H:28,200
INERFE RECHH)| JAL JAL 26,200 65% |%:30,100, 1:27,200, H:24,700
R (BRER) =54 PR GRE) | tBR JTA JAL 25,400 59%
S 12 JAL JTA 25,400 59%
PR (BRER) =l 4 (GRER) | tBR JTA JAL 23,700 60%
JNITE 3 12k JAL JTA 23,700 60%
HECHE)=5E|EECEIHE)F| HiE |JAL/JTA| RAC 40,000 51% £+ H:41,800
ERER [H&#EGRE)| RAC  [JAL/JTA[ 29,400 64% | 1:31,800. H:32,600
AiE RAC [JAL/JTA| 41,800 49%
KR (FFD=58E| EHREHFR [F#EGFFH)| RAC JAL 32,500 57% |%:32,000, 1:30,300, H:34,600
KBx (B8E8) =5 A E [ K (BEFa) 5 fAim JTA RAC 32,500 53% |%::32,000, £:30,300. H:34,600
EREFE [H#EGEH)| RAC JTA 32,500 57% |%:32,000, 1:30,300, H:34,600
AiE RAC JTA 28,300 59% |+:29,600, H:31,200
2EEE) =5BE| EBREF [+iEFBF)| RAC JTA 32,400 60% | B < H:33,300, A:30,000, 1:33,200
fEE=5E EREFR [F#GEEH)| RAC JTA 32,200 52%
RGNS =5 E | PEGRE)E| AiE [JTA/RAC| RAC 14,300 64% | AT H:14500, £:13,500
E I REHF AiE RAC [JTA/RAC| 14,300 64% | BT H:14500, £:13,500
HRCHA)=AXE|EECHH) ¥| 4 GB&FH) [ JAL |JTA/RAC| 28,800 53% |£:30,200, 1:29,700, H:27,300
AKEF |18 (FRE) [JTA/RACIJAL/JTA| 24,800 59% | £:25500, 1:25,300, H:29,300
Kk (FFH) =AXKE | KR FFD X[ F##E GRE) [ JAL |JTA/RAC| 25,800 52% |%€:27,300, +:30,000, H:23,900
AKEH |[H4#E (3% [JTA/RAC|  JAL 25,900 52% | &:25400., 1:24,200, H:27,600
KR (B8d8) =AXKE | KR (B8dE) X[ P4 GRE) [ JTA |JTA/RAC| 25,800 52% |4:27,300, 1:30,000, H:23,900
AXEFE [H#EGEEH)[JTA/RAC|  JTA 25,900 52% | &:25400. 1:24,200, H:27,600
ZEHE(hE) =AXKE|2EE (P F P42 (F8F) [ JTA |JTA/RAC| 21,400 63% | F:25400, % 1:26,000, H:25,800
AXE% [H#EFE) [JTA/RAC]  JTA 24,000 59% | H:24,900, A:21,600, @ H:25,200, 1:25,100
BR=AXKE BRI [EEREH)| JTA [JTA/RAC| 19,200 58% &+ H:19,300
AXKEF |HF#EJREH) |[JTA/RAC|  JTA 19,200 58% £+ H:19,300
HiERE) =EE PEGREH)F| 2R JTA JAL 25,500 59%
A=k =1 JAL JTA 25,500 59%

ORI CHE-FHE) ., A EE (P LM EFRRIE. MEFTBAORICTIREERERN 1Z

MZEEELEDICEEE LT THLRZITET,

HEBEOXEHY) FHE:290M (140M) BLHE 440 (220M) ER:310M (150A) b : 100 (50M) () (F/MR

JAL/JTA/JAC/RAC



